

$$\textcircled{9} \quad 6(a+10) = 6a + 60$$

$$\textcircled{25} \quad \frac{2x}{5} + \frac{7}{5}$$

$$\textcircled{10} \quad 8(4+x) = 32 + 8x$$

$$\textcircled{26} \quad \frac{17}{4} + \frac{5}{4}$$

$$\textcircled{11} \quad (5+w)5 = 25 + 5w$$

$$\textcircled{27} \quad \frac{8}{3} - \frac{9x}{3} = \frac{8}{3} - 3x$$

$$\textcircled{12} \quad (2t+3)11 = 22t + 33$$

$$\textcircled{28} \quad \frac{4y}{2} - \frac{12}{2} = 2y - 6$$

$$\textcircled{13} \quad 10(9-t) = 90 - 10t$$

$$\textcircled{29} \quad \frac{25}{5} - \frac{8t}{5} = 5 - \frac{8t}{5}$$

$$\textcircled{14} \quad 12(2j-6) = 24j - 72$$

$$\textcircled{30} \quad \frac{18x}{17} + \frac{51}{17} = \frac{18x}{17} + 3$$

$$\textcircled{15} \quad 16(7b+6) = 112b + 96$$

$$\textcircled{31} \quad \frac{22}{2} - \frac{2n}{2} = 11 - n$$

$$\textcircled{16} \quad (1+3d)9 = 9 + 27d$$

$$\textcircled{32} \quad \frac{42w}{7} + \frac{14}{7} = 6w + 2$$

$$\textcircled{24} \quad \frac{1}{2} \left( \frac{1}{2}y - \frac{1}{2} \right) = \frac{1}{4}y - \frac{1}{4}$$

$$\textcircled{33} -20-d$$

$$\textcircled{63} 3h^2-11h-3$$

$$\textcircled{34} 5+4y$$

$$\textcircled{64} 2ab^2+1ab \text{ or } 2ab^2+ab$$

$$\textcircled{35} -9+7c$$

$$\textcircled{36} x-15$$

$$\textcircled{37} -18a+17b$$

$$\textcircled{38} -2.1c+4d$$

$$\textcircled{39} m-n-1$$

$$\textcircled{40} -x-3y+3$$

$$\textcircled{53} 20x$$

$$\textcircled{54} 1y \text{ or } y$$

$$\textcircled{55} -2t$$

$$\textcircled{60} 8c-11$$

$$\textcircled{61} -3x+y+11$$

$$\textcircled{62} n-4m+1$$